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Occupancy = (NNt-Nsig)/(NevtxNstrip)

hit - entries of histogram
Nsi9: (entries in signal region) — (number of bkg estimated using sideband)



Run | Layer/Sheet | Striptype | _N" | N | Nt | N _| Occupancy (10) |

Vv 73035 34192 30350 1173 10.91+0.06
Layer 1
X 69505 47262 30350 856 8.56+0.06
Vv 98141 71253 30350 1077 8.23+0.05
1 Layer 2, Sheet 1
X 114811 100246 30350 630 7.62+0.06
V 179843 93180 30350 1077 26.51+0.09
Layer 2, Sheet 2
X 193122 119797 30350 630 38.35+0.14
V 220643 55466 31604 1173 44.56+0.11
Layer 1
X 206402 78682 31604 856 47.21+0.13
5 Layer 2, Sheet 1 v 118725 91019 31604 1077 814x005 Based on ReadCosmicRayData-00-00-04
X 138884 121284 31604 630 8.84+0.07 To be updated---
V 153729 108685 31604 1077 13.23+0.06
Layer 2, Sheet 2
X 161158 131038 31604 630 15.13+0.09
V 183585 55772 28327 1173 38.47+0.11
Layer 1
X 185181 82791 28327 856 42.23+0.13
V 118897 90870 28327 1077 9.19+0.05
3 Layer 2, Sheet 1
X 137087 117414 28327 630 11.02+0.08
V 156739 110848 28327 1077 15.04+0.07
Layer 2, Sheet 2
X 163556 126340 28327 630 20.85+0.11
V 269207 102189 44072 1173 32.31+0.08 |
Layer 1
X 270740 154768 44072 856 30.74+0.09 Th an k yO u:
V 224989 182810 44072 1077 8.89+0.04
4 Layer 2, Sheet 1
X 246839 216617 44072 630 10.88+0.06
V 272897 213768 44072 1077 12.46+0.05
Layer 2, Sheet 2
X 279997 233999 44072 630 16.57+0.08



Back Up



Events

Events

400 |- Fc 001
- Entries 73035
¥ Vstrip e oo
Underflow 3138
300 [ werfiow
[ Layer 1 g
250
200 —
150
100 -
50 U
0 i 1 MW | 1
-1500 -1000 -500 0 500 1000
Time (layer=0,xv=0,strip!=574,581,582)
500 |- Enm‘e?c_mzegsos
B | Mean _o5.04
X Strlp Std Dev 2835
W Layerl il
- Integral 65.263a+04
300 —
200 —
100 -
0 L e P | !
1500 —1000 -500 0 500 1000

Time (layer=0,xv=1)

Events

Events

800 | hc 003
- . Entries 28141
700 - V strip Mo 07
s00 - Layer 2 omton 154
- Integral  §.5687e:04
500 - Sheet 1
400 —
300
200
100 L’
0 [ mdvtisesmtidind | .
-1500 -1000 -500 0 500 1000
Time (layer=1,sheet=0,xv=0)
1200 hc 004
- . Entries 114811
1000 |- X ST Gaoe  1mas
- Layer 2 oo 20
800 - Sh t 1 Integral  1.1352+05
- ee
600 |
400 |-
200 [~ U |
0 C | A | | I 1
—1500 -1000 -500 0 500 1000

Time (layer=1,sheet=0,xv=1)

Events

Events

C hc 006
1200 __ . Enu'iesc_ 178843
= \/ St”p Mean ~163.9
1000 C Std Dev 357.3
- Layer 2 o 138
800 __ y E'.:;:al 1.?3%122
-~ Sheet 2
600 [
400 [
200 | L}
P o e i . .
-1500 -1000 -500 0 500 1000
Time (layer=1,sheet=1,xv=0)
C hc_006
1400 . Entries 183122
C X Stﬂp Mean 1303
_1200 __ Std Dev 3238
- Layer 2 ovton. 2158
1000 — Sheet 2 Integral  1.8082+05
800
600 [
400
200
0 .y e | —T
-1500  -1000 -500 0 500 1000

Time (layer=1,sheet=1,xv=1)



Events

Events

700 F Fc_ 001
— Entrias 220843
GOO [ . Mean —23&.3
- Vstrip o
500 __ Layer 1 Ef:;;w 2.1‘1:52
400 —
300 —
200 —
100 |- ﬁM
0 i l 1 | | | 1
-1500 -1000 -500 0 500 1000
Time (layer=0.xv=0)
900 = hc_002
800 __ :‘r::s 21:15:?3.3
Std Dewv 3952
700 — : meeriow
- Xstrip Pl
600 — L 1 Integral  1.093e+D5
500 ayer
400 —
300 —
200 —
100 = fnm
0 i 1 1 | | | 1
-1500 -1000 -500 0 500 1000

Time (layer=0,xv=1)

Events

Events

L hc 003
1000 __ Entries - 118725
-V strip Hor S
800 | Underfiow 845
B Layer 2 ﬂ:;:r 1.‘7752?
so0 FSheet 1
400 |
200 |-
0 C ... —. L, lJ | _!- iy I
-1500 -1000 -500 0 500 1000
Time (layer=1,sheet=0,xv=0)
N hc_004
1400 | T
- Mean -74.18
1200 r . Std Dev 1978
- X Strip R
1000 __ Integral 1.382e+05
- Layer 2
800
- Sheet 1
600
400 |
200 U J
0 - IR | . ol |
-1500 -1000 -500 0 500 1000

Time (layer=1,sheet=0,xv=1)

Events

Events

1400 hc_ 005
L Entries 153729
1200 -V strip oS
: Underflow 3855
foco - [ayer 2 P
soo - Sheet 2
600
400
200
0 - ...l o " | s, I
-1500 -1000  -500 0 500 1000
Time (layer=1.sheet=1,xv=0)
1800 = hc_006
1600 [ i
1400 F X str] o i
1200 E S rlp Overflow 2516
— Integral  1.532e+D5
- Layer 2
1000 y
s0 L oheet 2
600 |
400
200 .L) I
0 E | e e, | o STTe 1
-1500 -1000  -500 0 500 1000

Time (layer=1,sheet=1,xv=1)




Events

Events

- Rc 001
700 Eniries 183885
L Mean -220.6
sco - Vstrip e s200
s0 -  Layer 1 Eegis e
400 —
300 —
200 —
0r m%mw
0 | 1 j'” 1 | | | 1
1500 —1000 —500 0 500 1000
Time (layer=0,xv=0)
900 hc 002
L Entries 185181
- Mean -176.5
800 L . Std Dev 3752
700~ XStrip Eealli
600 | Layer 1 Integral 1.795e+05
500 —
400 —
300
200 —
100 — \ “” "
0 L j“ . I | ] .
-1500 -1000 -500 0 500 1000

Time (layer=0,xv=1)

Events

Events

i Fic 003
1000 _ Entries 118887
- . Mean -101.9
~ \/ Strlp Std Dev 2405
800 — Underfiow 2223
[ Crverflow 202
: Layer 2 Integral  1.185e+05
soo - Sheet 1
400 [
200 [
0 _ | e e L lﬁj | 1
-1500 -1000 -500 0 500 1000
Time (layer=1,sheet=0,xv=0)
1400 hc_[][]a'll
- Entries 137087
1200 C Mean -78.08
- X Strip P
1000 __ Crverflow are
B Integral  1.347e+05
- Layer 2
800 |
- Sheet 1
600
400
200
0 : 1 s | | il 1
-1500 —1000 -500 0 500 1000

Time (layer=1,sheet=0,xv=1)

C he 005
1400 Entries 156738
- . Mean -111
ooV SUIP L
w0 Layer 2 15150108
@ C
g s0f Sheet?2
> L
“s00 |
400 £
200 [
0 - | g ey | peudrtvhe, L
-1500 —1000 -500 0 500 1000
Time (layer=1,sheet=1,xv=0)
1800 | hc_006
: Entries 1683556
1600 C Mean -82.64
C . Std Dev 221.8
1400 | X Str|p U;der‘low 8754
- Owerflow 2415
_1200 — Integral  1.5242+05
P Layer 2
c -
it} C
2 sk Sheet 2
600 F
400 |
200 F J_]
0 E | e I | |
-1500 —-1000 -500 0 500 1000

Time (layer=1,sheet=1,xv=1)




Events

Events

F Fic_001
1200 __ Entries 288207
: Mean -188.7
[ N Std Dev 390.5
1000 =/ strip e e
C Integral 2 582e+05
soo - Layer 1
600
400
200 |
- PR o
o L J*' ! | | | !
—-1500 -1000 -500 0 500 1000
Time (layer=0,xv=0)
1800 hc_002
~ Enfries 270740
1600 — Mean -141.3
E Std Dev 3338
1400 . Underflow 8135
1200 X SErp P s
1000 = Layer 1
800
600
400
200
0 c PO osennmt i .
—-1500 -1000 500 1000

Time (layer=0,xv=1)

Events

Events

E hic 003
2200 :_ Emriesc_ 224080
2000 & . Mean —87.31
1800 £ V STrIp nerton 167
1600 :_ :Jvel‘low 428

F mtegral  2.226e+05
100 E Layer 2
1200 = Sheet 1
1000 F

800 ;—
600 F
400 ;—
200 £
0 C L pean aarl | L 1
-1500 -1000 -500 0 500 1000
Time (layer=1,sheet=0,xv=0)
3000 [ hc 004
L Entries 246838
Mean 7374
2500 — Std Dev 181.8

L . Underfiow 1928
2000 +— X Strlp E:;:r 2.442;3;

- Layer 2
1500 —

- Sheet 1
1000 —

500 —
0 I L e L U l it | .
-1500 -1000 -500 0 500 1000

Time (layer=1,sheet=0,xv=1)

Events

)]
-
o
>
L

he 005
3000 — En':iesc_ 272807
— . Mean -80.49
2500 -V Strip o
. Orverfior 417
2000 | Layer 2 Integral  2.878e+05
o0l Sheet 2
1000 —
500
0 T ) U | g . 1
-1500 —1000 —-500 0 500 1000
Time (layer=1,sheet=1,xv=0)
hc_006
3500 B En'J'iEsc_ 270997
r Mean -73.78
3000 — Std Dev 1834
L . Underfiow 8037
2500 - X Strlp Eu::::Iw 2.?02:132
2000 Layer 2
1500 |- Sheet 2
1000 —
500
0 L 1 e
-1500 —1000 —-500 0 500 1000

Time (layer=1,sheet=1,xv=1)




